The nominal value for cycle time should be 120 and you should try both plus and minus from that
number to see if you can get rid of the problem. If the number is too far off, you will not be able to

decode any DMR signal.

e & .
O Buttons 6thTone 0.0 = 0 = 14th Tone 0.0
€= One Touch Cal ¥ >
2 Tone Lt 1 7thTone 00 2 0 : 15th Tone 00
e Accessories \ ] 0.0 - 0 - RN Y
+-_ Conventional v v

\
=5 =

Interval [s] 3 A BRI
¥ [ Stop J

: ugnﬁ 1o0f1 I4 11 I, l“'

If you find a number that works, please e-mail to jerry@connectsystems.com to tell us what number

works for you.
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